EXERCISE 4C
1. Add the following rational numbers:

(1) is and 3 (ii) = and N (1ii) L3 and 1 (iv) =9 and 7
7 5 5 -8 8 11 -11
(V) 9 and ol (vi) —2 and - (vii) 317 and -l (viii) e and 5
- -13 9 9 9 -7
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2. Add the following rational numbers:

— 5
-2 3 -5 2 1 (iv) —% and —
(i) —E_)—andz (ii) ?and—g (iii) -4 and 5 57 18
-5 —7 L1 4 =9 -1 27 -15
(v) — — (vi) — and — (vii) —= and — (viii) — and ——
36 and 12 -9 —27 24 18 -4 8
3. Evaluate:
- — — — 11 3 1
(1) _E+Z+_1 (ii) _1g+§+_2 (ifi) —— + — +—
5 b5 7 7 - -8 4
.. -16 -5 7 1 -2 . -13 5 -1
(iv) + (V) —83+=+— (vi) +
9 12 +18 8 5 8 16 4
4. Simplify:
(i) ——8-+i (ii) _7+ 19 +27 (iii) _1+l+ﬂ
15 -3 10 -15 20 -9 12
_ 1 =83 -9 _
(iv) 11+ S +2 (v) 2+_l+_ (Vl)_-—+g+_:3.
39 26 2 4 11 3 4
5. Express each of the following rational numbers as the sum of an integer and a rationa]
number:
12 -11 —-25 .. —103

(i) — (ii) — (iii) —— (iv)
9
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T T 7 7

(i)

-2 , 1 _ —241 _ -1
5 T3 5 5
(i)

3 0 (e |
=TT %

-3 1 _ =311 _ 2
TTE="% =73

(v)

7 o (-

gy oo T

5, 7_-5{-7_ _s7_ _12
'T+'T"' 11 R * T T
v)

R [

XT3 Ts

o 9111 2
st —©

(vi)

2 5 <360

E Tl i Tt

(vii)

L/ ) QR S T QR
] 9 8 9
(viil)

2+l
Q2

Answer:

0+3

The denominators of the given rational numbers are 5 and 4.
L.C.M. of 5and 4 is 20.

—2_ (x4 8
5 7 Gx4 20
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(7 + 3

The denominators of the given rational numbers are 9 and 3.

3
EIEN

L.CM.of 9and 3is 0.
(8)x1 5

=5
9 9x1 9

_2x3 _ 6
T 3x3 0 9

(XTIXY

Now, % +

e

==

(ii)—4 + 1

The denominators of the given rational numbers are 1 and 2.
L.C.M.of1and 2is2.

EY I ) .
1 1x2 2
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The denominators of the given rational numbers are 27 and 18.
327,18

9,

3,

I,

1,1

L.C.M. of 27 and 18 is 54.

=,

(=]

(58]

[o] | o

1 _ (0x2 _ 1
7 27x2 54
5 _ b5x3 _ 15

18~ 18x3 - 54

(-14) | 15 —14415
Now, 5+ 5 =%

1,1
The denominators of the given rational numbers are 36 and 12.
LCM. of 36 and 12 is 36.

=5 __ (—5])(1 __ b
36— 36x1 T 36
e SRR .. —2B
12 7 12x3 — 36

(-5) , (-21)  _5_o
% T "3 — 35

_3—256 = _1—;3 (26 and 36 are divided by 2 .)

We need a positive denominator.

1

_—ux%l-:__land ix__l-:_4

1 0 —27 —1 o

The denominators of the given rational numbers are 9 and 27
30927
3[39
313

1,
L.C.M. of 9 and 27 is 27

1oz r
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i

. =9 Ox3 i
- - "oy 24x3 72
1 _ -Ix4 _ 4
T T T

(viii) 2% + (‘T“‘)

We need a positive denominator.

21, =1 _ -
= e~
The denominators of the given rational numbers are 4 and 8.
2] a8
224
2012
l,
L.C.M. of 4 and 8 is 8.
2T . -2Tx2 _ -4
4 = 4x2 — 8
(-15) _ (L1s)xt g5
B Bx1 B
5y . [ 15)
Now, . +-—

5415
B
= =%

(%]

Scanne d with CamScanner



e
Answer:
(i)
3 7 1
TN EET
L.C.M. of the given rational number is 5.

{—) {1)

- slTa
- -I
—_ 4T
-5
_3
-5
(il
-12 3 2
0 i Tt 3
(-12) , 5, (-2
r Tyt T
1243-2
a 7
M43
T
_-n
7

(111) 31

We need a positive denominator.

xa=—andi x 5 =2
L.C.M. of the denominators 12, 8 and 4 is 24.
ux2 _ -2
12x2 23
Ix3 _ 9
Ex3 21
1x0 6
ax0 24
(-22) , (-9) , o
Now, 5+ 55 + o5
21 946
=T u
3146
T2
_ 25
Lo
10 5, 7
L.C.M. of the denominators 9, 12 and 18 is 36.
_10x4 04
Ox4d — 36
5x3 15
12x3 30
Tx2 14
18x2 30
(-0d)  (-15) , 14
Now, AT

oo 1o o] 1o

1o 0] o | o
=9
3
(3]
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(v) ~34+1==2
L.C.M. of the denominators 1, 8 and 5 is 40.

Ix40 _ 120
x80 = 1 208,164
Ix5 _ 5§ 21482
SR T 2]2.4.1
—2x8 _ _10 _2]12.1
;“ Cim) 5, () LL1
oy SR g
12015 16
- an
o5 131
- a0 40
N 13, 5 1
(‘") <= Tt T
L.C.M. of the denominator 8, 16 and 4 is 16.
_13x2 20
Bx2 10
5x1 _ &
16x1 16
Ix4 __ 4
x4 16
(-20) , 5 , ()
Now, 16 +'1':T+ 10
26454
- 16
3045 25
Now, 16 10
Q4.
Answer :
(7)
iz, 2
v t5
We need a positive denominator.
i 1 _ -2
ST TRT TR
Now, L.C.M. of 15 and 3 is 15.
b cExly_ 3 31153
15 15x1 15 il et
515,1
2 —2x5 __ 10 ————
3T x5 T 15 1,1
8 10
NOW, 3 -+ 15
B-10
15

_ 18
=15
o =
s
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(i7)

T 13 Fii
Tt te

We need a positive denominator,
LI
BT B
Now, L.C.M. of 10, 15 and 20 is 60.
R S i B
L T R T T 1]
13 _ _13x4 _ 52
5 T TiExa - @

v 2Tx3 __ Hl
0 Hix3 o

B1

42 52
Now, o +% t®

~(42) (- 52)(z1)
" ]

_ 04381
ol (1)
==
]
(#it)
7 11

-1+ <tz
We need a positive denominator.
iamy g oW

0 19
Now, L.C.M. of 1, 9 and 12 is 36.

1 1x30 30
T 1a3@ W
=7 _ =Tx4 _ -28

0 Oxd 3o
1 1uxi  n

12 7 12x3 T 30

- 30 28 13
3t ts
_ 302811
o 36

—04 433

- 36

— 3t
— 36
— —3
)
(iv)

11 5 2
EREE R

L.C.M. 0f 39, 26 and 1 is 78.

10,15,20
234

1.3.2

1,3,1
LL1

]t [ra]en

‘:a
2

bl
L

Irqlulwlw
[ S

—
-
—
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(iv)
11 5 2
TR
L.C.M. of 39, 26 and 1 is 78.

(4452
L.

C.M.of 11, 3 and 4 is 132.

-9 0x12 108
1~ =12 132

1

2 _ 2x4 B8

37 3x4 0 132

S3 _ _3x33 _
4~ 4x33 132
108

g, (-09)
Tttt
10845899
el 132
_ 207488 _ 119

132 132

Q5.

Answer:

—

(3= 3 ILFE N TR
L
b

M

|| ={ o ]e
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